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Note : This paper is of two hundred (200) marks containing four (4) Sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

A T UIYT &) W (200) R F § TS TEH AR (4) TS & | 30T TAH e TAT & IR
31eT 2 T g N & AR T |
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SECTION -1
-1

Note : This section consists of two essay type questions of twenty (20) marks each, to be

e

answered in about five hundred (500) words each. (2 x 20 = 40 marks)
T T H G- 37 & T FeeHs Ue & | Teish o1 ST o Ui 9t (500) TSt |
37T & | (2 X 20 = 40 37F)

What is meant by the concept of inclusive growth ? Examine the success of
Government’s economic policies in achieving the objective of inclusive growth in
India.

AT forehre o STaEROT ¥ T S € 2 R H GHER [GM & 328 i 0T
H TR Tt M AIfqal bl GHAT T oo DT |

OR / 3rgat
‘Development of Infrastructure is prerequisite for speedy economic development.’
Discuss in the context of Indian experience.
‘Aot et fashrd & foIT gerd e o1 T qamiferd & 1 9RdE oFwa & we o
=T HINT |
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2. Discuss the various developmental issues in the context of debate between developed
and developing countries pertaining to global warming.

Afversh IR % Trawy § foshiad ud fasmraeier 391 o ot =e 1@ foarg & 9-y & faf=
TarehraTeres Trestt &l foeam T |

OR / 3gat
Critically examine the performance of the organised industrial sector in India since
the Economic Reforms of 1991 with respect to employment generation.

1991 & 37 QuRI % T9F ¥ 9IRA % Giifed Si=ifies &F & o &1 e
o T |
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Note :

SECTION - II
EC | |

This section contains three (3) questions. From each of the electives/specializations,
the candidate has to choose only one elective/specialization and answer all the three
questions contained therein. Each question carries fifteen (15) marks and is to be
answered in about three hundred (300) words. (3 x 15 = 45 Marks)

30 We | U Ufeseh 3ohre / fomiosiar @ |9 (3) U9 € | 3Teelt i hael Ueh UTeseh 3ohre
/ TRIOTAT Bt T SHT & AFl U9l O SR 34 & | U U9 UeRe (15) 3 HI E F
ITH AL AT T | (300) VT T emfead € (3 x 15 = 45 3iw)

Elective - I / fa®wea -1

Outline Koyck’s distributed lag model. Explain briefly Adaptive Expectations and
Partial Adjustment Models as rationalisations of the Koyck Model. Also state
estimation problems involved in this model.

High % TEEFET 7T Higer ol TGN T HINTT | G H High HSeA o STaeiisnor
% T § PO TSI e STTeTeh U Higet S =me T | 39 Hieet § 31w
3TMeheT FHEATST 1 ey T |

State Order and Rank conditions for identification in a simultaneous equations
system. Consider the identification of equations in the following demand and supply
model for money :

d
Mi=PBy+B; Y+ B, R +B5 P+ 1y,
M =0 + 0y Y, + Ly,
Which method would you use to estimate the parameters of the identified equations ?
Why ?
IS FHISHIOT FUTCH <l ST bt Shife 3 ShH ot 91t ol Taeror SIS | qg1 & 97 31X
3MYF o T Hieer § THIhoT i STRIET Sl Ued i |
d
Mi=PBy+B; Y+ B, R +B5 P+ 1y,
M= 0y + 0y Y+

ST GHIHIOT o HITeh! T STehoT [hd Tgid & il ? T 2

Define ‘Stationary’ and ‘non-stationary’ stochastic processes. Explain unit root test.

3TTET 3R TR STt ATgIedeh UishATsti Sl URIfad i | JHe T 2T T T HIfT |

Elective — II / fapeq — 11

Discuss Cournot’s model of duopoly. How Stachelberg model is an improvement
over Cournot’s model ? Discuss.

FAIE o TR TS i faa=mT HINT | THheram 1 ASd FAe & Higel | Tl GER Al
T 2 =9 HWT |
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Explain the use of Linear Programming in Economic Analysis. In this context explain
the economic interpretation of Dual Linear Programming solution, taking a simple
resource allocation problem of a firm as an example.

anfersh favetoor & ae AN & 3UIN Hl WL ST | Th B 9 JET qeE-8rd
T @ T €, ST ST o §U 39 HeW A fgoifuer STEiSH gt @i wiwar
FHIT |

Discuss the main features of Kaldor’s model of Economic Growth.

HASK o 3 fohr Aieel o q&F 317 Fl foe=r S |

Elective — III / fapea — 111

Explain the significance of multilateral trading agreements as a move towards free
trade.

e TR 3 90 | g-Tieees AN ST & e i [dgeraT iy |

What is meant by international debt crisis ? Explain the factors responsible for the
international debt crisis in the recent past.

STRICT U7 Gohe W T MW € 2 TUSel T8 qUT § <RI F0T Tohe o ol ST
R I T HIFT |

Define the term equilibrium foreign exchange rate. Discuss foreign exchange
arbitrage and covered interest arbitrage.

aferd facen fafroe 3T =t afamer ST | foeett fafaa &1 sa-faska dor stad =t %9-
fershar st ==l ity |

Elective - IV / fasea - IV
Critically discuss the trends in productivity of food crops during the last two decades.

U=t 31 39T W TR bl ScATSehaT & BT i STATITHS &7 ¥ T ity |

Examine the role of co-operative credit institutions in providing credit for the
development of Indian agricultural sector.

YRS T &3 & e & T o1 39 & Heeht 0T WEIHT i .7 HeH € 2

“Agriculture always remains on top of Agenda in the W.T.O. meetings.” — Elucidate.

“THT Gaa fave AR Fe i Afem & 3 THog W R & 17 — T HitT |

Elective - V / fasea - V
Suggest suitable measures for Indian agriculture to attain W.T.O. standards.

YR H I fova SATIR TS o HHH! dh Tgd o [oTd ST &7 T G ST |

“Women empowerment is an important pre-requisite for an overall economic
development.” Discuss.

“TfgeAT TRTHTHIOT THY 2T o o 1w gamiferd & 17 e T |

“Fiscal Reforms in India are far from practical applicability.” — Illustrate your answer
with respect to Goods and Services Tax (G.S.T.).

“aRd % fadig R AEeie SUgeTar ¥ 9gd g & 17 — 310 IR § AT T Hel-ah
(ST.TH.2T) & 33T ST |
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SECTION - III
g - III

Note : This section contains nine (9) questions of ten (10) marks each, each to be answered

in about fifty (50) words. (9 x 10 = 90 Marks)
Me: TT ES H TH-TW (10-10) 37T & A (9) 9T & | Uedh U9 T 3T T U= (50) V3T H

3TUfeTT & | (9 x 10 = 90 i)
6. Define ‘diamond-water’ paradox with respect to utility and scarcity.

STAITTAT 3R TATAT o TG § RIS’ & foRTemIr &t g it |
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7. Distinguish between short-run and long-run laws of production. Explain graphically
long-run laws of production using isoquants.
SCIEA o ST ST IIeTehrett fafeal § 3R ST | FH SIS a5k 31 FANT il U 3@
To T SR o SrEhTel faredl Sl T HiT |

8. Explain the effectiveness of repo rate and reverse repo rate in curbing inflationary
pressures in Indian Economy.

HRAH TRl | TR gamal &t Teh § Rt 32 3R REw [t ¥ & oe & T S |
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0. What is relevance of human development index to the developing countries ?

ToprasiicT S9m o feTT ATa forehra gerehich st T WTERTERT & 2
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10.  What is the concept of deficit in Balance of Payments ?

STETINTET o AT | 1 i TR T & 2

11. State Weber’s Theory of Industrial location.
AT % 3TN T fag &1 foaror JT |
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12. ‘Public Expenditure is an ever-increasing Government activity.” — Elaborate.

IMAHT = TR gt §8 TR Ay & I” 39 H2 6 [gae Hifw |
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13. Explain Theory of Demographic Transition.
SHTRehIE HHHUT o [FET=T ol T HIWT |

14. What are Null and Alternative Hypotheses ? Distinguish between Type I and Type 11
errors.

TRTERROT e Sehfeaeh UReheaHT 3T & 2 Wb (2T2Y) | 3T Wb 11 1 I § 3= BT |
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SECTION - IV
g -1V

Note : This section contains five (5) questions of five (5) marks each based on the following

e

passage. Each question should be answered in about thirty (30) words.
(5 X 5 =25 Marks)

T We ¥ fefafad TRt W SEid Uie (5) 99 € | s U9 T ST o | (30)
T H TR & | Uk U U (5) 37l HT & | (5 % 5 = 25 3f®)

“Consider a commodity such as bread. It has many characteristics, of which
yielding nutrition is one. This can — often with advantage — be split into different
types of nutrition, related to calories, protein, etc. In addition to nutrition-giving
characteristics, bread possesses other characteristics as well, e.g., helping get-
togethers over food and drinks, meeting the demands of social conventions or
festivities. For a given person at a particular point in time, having more bread
increases, up to a point, the person’s ability to function in these ways... But in
comparing the functionings of two different persons, we do not get enough
information by looking merely at the amounts of bread (and similar goods) enjoyed
by the two persons respectively. The conversion of commodity-characteristics into
personal achievements of functionings depends on a variety of factors — personal and

social. In the case of nutritional achievements it depends on such factors as
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(1) metabolic rates, (2) body size, (3) age, (4) sex (and, if a woman, whether pregnant
or lactating), (5) activity levels, (6) medical conditions (including the absence or
presence of parasites), (7) access to medical services and the ability to use them,

(8) nutritional knowledge and education, and (9) climatic conditions ...”

TS it fordt %] o R § WitaU | S9E & 07 ¢ R 9§ U Uit § | 39
difteshel i gaeh Tl TehRT Z HeAlial iR Uidie & sier ST Tl € — Ud: U e |
AT BT | fteshar TS e o WA A H 3 T of € S @H-UH % {3t B,
GIITTeh TREORTST STIET HERT i AT Sl Q7 - | Feraeh g | 6T fafme st & o,
ferdt fafea ava W, 3R stk feat o e, fohdt T o, 3 fRemett | = % fog
3 A P AT H TRl BT | TR 31 AT b BIF B o A T g el B
et (39 St 311 age) W, TSHeh o 3UHiT o €, Tar ot U el gt § | aRg-on
1 AT SueITeudl § aRedH fafe= SRept - 5T SR AT - 9 fRX et & | wifeeshar
SucTiel o T | T8 (1) T I, (2) HEE AR, (3) A, (4) for R afs wfeer €,
FT TE THAA STIET T A, (5) Ay W, (6) Afewer I9M (WeiteEr wH
St ST aretd), (7) Hiesher YaTell T Ugd 37X 3 UeRT X i &THT, (8) Titeahdl
T 3T fore, qer (9) | % e |

15.  Explain how poverty is associated with consumption patterns in the society.

T HIT foh = FE=ar GAT & STHITar Tiaas § T g & |

D-01-11 27 P.T.O.



16. Explain the concept of nutrition and the purposes it serves in an economy.

ifteahaT ol STaERUT 3R fohdt onférehar & T fohm 329ai ot gfd el & — T T |

17. How does poverty, famines, starvations depict the economic and personal
characteristics of individuals ?

T, 3TehTet, TEERT {6 Wb | Afd o 3Tiaeh 31X ST &9 ol g9ITelt € 2
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18. How does freedom of choice in decision-making enhances the capability of
individuals ?

foTa 49 & T o B2 Afdaal § qHe i hd Sgr € 2
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19.

Explain the factors that help to convert commodity characteristics into personal
achievements.

3 PRI I WL DT (18 THET %] @ed 38 o7 Suetied § uRafad & § @@
BT |
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